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Name/fitle of Paper- Advance cost accountjng
Time : Three Hoursl

[Maximum Marks r80
lMinimum Pass Mark i 29

ie :fii sEgi t f+{srEsR ti t Afuq I qrn d 0i6 s{d qrLfr srR 3ifu-d i r

Note : Answer from both the Sections as direct€d. The figures in thc righlhand margin indicate marks.

qw/Section-A

1. Frqftrfud 3{fr dg sf,frq qri A sff Afuq : rx10=r0
Answer the following very short-answer type questions:-
(a) td drrrd t 3nc rqr HTsi t?

Whal do you mean by prime cost.

6) A-( or 3rr{rq t?
what is V.E.D. stad for?

(c) fi drrd wr e?
What is labour cost?

(d) scRes o) qft, B( dtur I

Define overhands?
(e) 

"rq 
6rd @r t?

what is work in progress?

(0 qd 61 3ns t q5cro aqr B?
wlat is cost revenue ratio?

(g) smqr qqr t?
What is by production?

(h) 3rioR-fi cfu-qT dn @r t?
what is inter progress point?

(D Tsdfr Frjaur @r t?
What is Budgery control?

0 *{fli qqe t qqr 3rRrq B?
What is meant by flexible budget?

2. ffifu-d ag vofto ri d cot flfiri:- 2x5=10
Ans$er the following shon type queslion:-
(a) cFro tcioq d wlsq rffsq r

Explain the objective ofcost accounting.
(b) dFrd q, dan dFrd fr-{tsr T, d @r t( t?

How dose cost sheel differ from cost stalement.
(c) €fd ar.l( E0 @r i?

what is the betel costing?
(d) €gff s{TE Tqr t?

Wlat are joint production?
(e) \'6 qr{rdyrd Ts.q cqrfr d srqrq{ ( @r t?

What are the essenlials of an effective budgetary control syslem.
qEg,/Se€tion-B 15x4d0

ffituo {d vmfu crti d rtr* fffrrt r

Answer the following long answer type question.
s.orJ z unit-t

:. smff f+riaq t erlqor aqr emrq B? r+d s<Mi cd onTrp{d fu<id or s,ii olFic r

what is meanl by material control describe its objective and basic principle.
3I2FII/OR

ffifud q{n3t d *-rEff 3,'rfid 3racrd sld iA-G! t

calculate material Inventory tumover ratio fiom following.
{lcff A {I{ff B qrsfi c
N4aterialA Material I lvlaterialC

qRft-6 {dfuqr Openins stock 2.000 4.ooo 3.000

3ifrrt{6-ftqT Closing stock 1.000 2.000 500

o-q s{ d Et{H Purchase during year 2O.OO0 4O.OOO lO.O00



gord t unir-tt
a. qrii s'et <r r€ft @r B ? gsd rd-r d-, \,ti drrn or q'Dt-r dfuql

mat is Machine hour mte method? Explain ils area of application and advantages
3rat?T,/oR

w q!t{ or (mf, q, Bq t-
the cost sheet ofa machine is as under:

fi Labour
qffi.I qq Variable expenses

&tg qq fixed experses.

ed ilFltl tota, cost

dT.II Profit
180

20

ft6q { selling pric€ T
rsrFd qd tfr 'rg 

qrH o1 €@T 3oooo/ssrfi ffifl toooo qrtq,zwt offi sooo qrtil
d fuq 160l- qft l!ftq d (t t Fr4td 3n?yr 66R o{ d?

No. ofmachines produced and sold 30000 capacity is 40000 machines. should the company accePt

an export order for 5000 machines at Rs. I 60 per machine?

s. &or ar.ro ror t? io qfuqqif{ npn a6r{ qn-qqioc t d Tdr{c t

What is contract costing? Differentiate between contract costing are unit costing.
slerql/oR

ftq Mi t \'6 {€ d qli t$q{ fu.ff. de{r qtr frtd$-e1 dFm 5rd qtlBc
From the fotlowing details. Calculate operating cost per passenge. km. and per km. ofa bus:

q6 {s ?I Trfi d fiq rs f}ff a1 <0 q d.fi t I qa etsoc qfrffii i zs ft-€{
r€-o w qrff B t q6 qfr lfi 5 qri 6 (rn s qfl 3rrl d $t 67fr t t gsol eTT(l so qri
i 3h 3itFn{ ao qfftrd f,d o{e i-

A bus covers a distance of 15 km between two cities on an average it do€s remain on road

for twenty fiv€ days in a month. It takes 5(five) rounds Tripe each day. Its capacity is 50 passengers

and on an average 80o/o ofth€ seats remain's.
gIE{t 6I tfi qf=frqE D ver's Salary per month 300

oigqqs ot tac cfrIlr6 Salary ofconductors per month 500

tdd sirR qFdq'46 Petrol etc. per month 3,500

AFlil Cost 80,000
irgqfin d?r Estimated Life 5 q{ s Year.

Acr filq srff-6 Insurance erc. P.A (qlffi6) 3,000
Trtqd G Tfi-fffiq srEo R€paiN & Renewable etc. 4,000

6. 1'6 Fnlu o{ or aer< ?t qfusr 3r G e t Tst 6r tqR d-fi n om itM cgttiil d
sntrn w qc qqr nr t fd rd,d qfuqr q qf, qq;I fl z qfrYrd El srdr t oen rox qsi dI
srcr t fu-s q{ qfu-qT 31 3ik q t roo r". cid fu-n. q'ti rso s. vft fu.n. oqvt, srq drdr B r

sfu-qr oT fa{t"r fiq t-
The product is a manufactu.ing concem passes through two processes A and B and then to finish€d
stock. It is ascertained on the basis of past experience that in each process 2% ofthe total weight
put in is lost and I 0% is scrap which fiom process A and B reateN Rs. I 00 p€r kg. or Rs- 1 50 Per
kg respectively. The process figures are as follows:

Process A Process B
$qfi rg.ffi fu.{r. Materiallnsymel Kg. 1000 70

mqff o1 oFro cid fu.Tr. cost ofmalerial perkg. 120 200

ffi{fr wages 17500 10.000

ffi qq manufacturing expenses 5380 5342

qfu-qr ert .sflreir d cl.]n Ei rdo qfuqr dt arrrd qft {or{ <qii Eq fir{q t

Prepare process accounls. showing the cost ofthe output of each process and th€ cost per kg.
stPt{t/oR

3iiR cfu-qr drq d sIE flr €Efld t? srRft-fi arq d .r"rcr f { crfi ot qrfi t? s(r€r'r flR-d
gTEIEg I

What do you mean by inter process profit? How is actual profit calculaled? explain with exarnples.

5.
80
40
20
40



7 r}fs {sd @r t? ios sre r+i d FE-q tfui or qdq dtfrc t

what is cash Budget? Describethe various methods of preparing cash Budget
3larql/ OR

li-q 3ffi s{ zorg d fdq ('fi or{qi d ord t qidfut t:
The following dahs related lo lhe workjng is a factory for the year 2019.
ordfrErdr oI so96 ro ord Een capaciry worked ar 50o/o

fta]-t alrrri Fixed costs s. i5.

trq salaries 84.000

fu-{IqT s fl Rent & Rules 56.000

Er€ Deprecialtion 70.000
r,rdl q{nsfto .{nI Other adm. exp. 8000 290.000
qffia ar.kf variable cost
sFIfi materials 240.000
atg labour 256.000
3IQI arq other expenses 38.000 534.000

Iifi-q ord wri w rjqlfud 6q a1 qr{I
Posible sales at various level of working are:

ot{6r161 sn ..11, fuag sales in Rs.

600/o 950000
150/o 1150000

90vo 1375000

100% 1s25000

\.o BtqE, Tse snrsq n'arT 60%,75%, so%. gi roo od wil q* apr d crr 6r {qlgqn dji{ |

Prepa.e a fl€xibfe budget and show the fare cast of profit of 60o/o,7 5Yo,90o/o and I 0070 capacity operations.


